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ALGEBRAIC EXPRESSIONS AND IDENTITIES

Question

Try These

1. Find the value of the expression  for the given values of y i.e., 

Watch Video Solution

2y − 5,

y = 2, 5 − 3, 0, ,
5

2

−7

3

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_K5dy6SqrVznK


1. Give five examples of expressions containing one variable and five

examples of expression containing two variables.

Watch Video Solution

2. Show on the number line 

Watch Video Solution

x, x − 4, 2x + 1, 3x − 2.

3. Identify the coefficient of each term in the expression

Watch Video Solution

x2y3 + 10x2y + 5y2 − 20

4. Classify the following polynomials as monomials , binomials,trinomials :

Watch Video Solution

−z + 5(x + y + z), y + z + 100, ab − ac, 17.

https://dl.doubtnut.com/l/_HvK9QZaeejC9
https://dl.doubtnut.com/l/_hz88urfyK5yk
https://dl.doubtnut.com/l/_g6m3pwfQXWl0
https://dl.doubtnut.com/l/_ZXoPc30VR2J1


5. Construct:

3 binomials with only x as a varialble.

Watch Video Solution

6. Construct:

3 binomials with x and y as variables.

Watch Video Solution

7. Construct:

3 monomials with x and y as variables.

Watch Video Solution

https://dl.doubtnut.com/l/_ZXoPc30VR2J1
https://dl.doubtnut.com/l/_5pmK0fFGMuJR
https://dl.doubtnut.com/l/_64lwZPZlt4OU
https://dl.doubtnut.com/l/_vIaeXNgauDlb


8. Construct:

2 polynomials with 4 or more terms.

Watch Video Solution

9. Why are 7x and 7y not like ?

Watch Video Solution

10. Why are rice and dals not washed repeatedly?

Watch Video Solution

11. Why are 7x and  not like ?

Watch Video Solution

5x2

https://dl.doubtnut.com/l/_7ufgnhEp4PPH
https://dl.doubtnut.com/l/_W1BSHesdYzt9
https://dl.doubtnut.com/l/_KKvnOqqc4qdq
https://dl.doubtnut.com/l/_JGiGKyeD1o2U


12. Write two terms which are like 

6 xy

Watch Video Solution

13. Write two terms which are like 

Watch Video Solution

4mn2

14. Write two terms which are like 

Watch Video Solution

5l

15. Can you think of two more such situations., where we may need to

multiply algebraic compressions ?

https://dl.doubtnut.com/l/_1lrxDDThtL53
https://dl.doubtnut.com/l/_LpZCui9mZ6oQ
https://dl.doubtnut.com/l/_gMKHjG69TKwD
https://dl.doubtnut.com/l/_uothikTsnIEY


Watch Video Solution

16. Find  


First find  and multiply it by  


or first find  and multiple it by 3x. 


Is the result the same ? What do you observe ?

Watch Video Solution

3x × 2y × 5z

3x × 2y 5z,

2y × 5z

17. Does not order in which you carry out the multiplication matter ?

View Text Solution

18. Find the product : 

Watch Video Solution

x(3x + 5xy)

https://dl.doubtnut.com/l/_uothikTsnIEY
https://dl.doubtnut.com/l/_XDiVpARu9saG
https://dl.doubtnut.com/l/_do5SVmLD64OP
https://dl.doubtnut.com/l/_VNo86Ly04sbq
https://dl.doubtnut.com/l/_AFHVWbZHPhiH


19. Find the product : 

Watch Video Solution

a2(2ab − c)

20. Find the product : 

Watch Video Solution

(4p2 + 5p − 7) × 3p

21. Verify Identity (IV), for 

Watch Video Solution

a = 1, b = 3, x = 5.

22. Consider the special case of identity(iv) with b=-a.What do you get ?Is

it related to identity(iii)?

Watch Video Solution

https://dl.doubtnut.com/l/_AFHVWbZHPhiH
https://dl.doubtnut.com/l/_jAXE7hBjtalz
https://dl.doubtnut.com/l/_x6zbpfuoTSrE
https://dl.doubtnut.com/l/_XvHIqRefGAMF


Exercise 9 1

23. Consider,the special case of identity (iv) with a=-c and b = -c.What do

you get ?Is it related to Identity(ii)?

Watch Video Solution

24. Consider the special case of identity(iv) with b=-a.What do you get ?Is

it related to identity(iii)?

Watch Video Solution

1. Identify the terms, their coefficients for each of the expresion : 

Watch Video Solution

5xyz2 − 3xy

https://dl.doubtnut.com/l/_UwROFog9cqkC
https://dl.doubtnut.com/l/_x5Qq4o9M4cKF
https://dl.doubtnut.com/l/_iyu1Ib8uVMr4


2. Identify the terms, their coefficients for each of the expresion : 

Watch Video Solution

1 + 2x + x2

3. Identify the terms, their coefficients for each of the expresion : 

Watch Video Solution

4x2y2 − 4x2y2z2 + z2

4. Identify the terms, their coefficients for each of the expresion : 

Watch Video Solution

3 − pq + qr − rp

5. Identify the terms and their factors in the following algebraic

expressions by tree diagrams 

https://dl.doubtnut.com/l/_nhMLSbFsiIDm
https://dl.doubtnut.com/l/_pIv4BCRpaXVX
https://dl.doubtnut.com/l/_zLAKKuJtQ6NL
https://dl.doubtnut.com/l/_KghGhEpWXShz


Watch Video Solution

x3 + 2x2y2 − 7y33

2

6. Identify the terms, their coefficients for each of the following

expressions: 0.3a – 0.6ab + 0.5b

Watch Video Solution

7. Classify the following polynomials as monomials, binomials, trinomials.

Which polynomials do not fit in any of these three categories

Watch Video Solution

x + y, 1000, x + x2 + x3 + x4, 7 + y + 5x, 2y– 3y2, 2y– 3y2 + 4y3, 5x– 4y +

8. Add the 

Watch Video Solution

ab, − bc, bc, − ca, ca, − ab

https://dl.doubtnut.com/l/_KghGhEpWXShz
https://dl.doubtnut.com/l/_h3oUS3vuEpje
https://dl.doubtnut.com/l/_L8IfhrKQXyB1
https://dl.doubtnut.com/l/_0bTpaVegp8Ht


9. Add the following: a – b + ab, b – c + bc, c – a + ac

Watch Video Solution

10. Classify the polynomials as monomlals, binomials, trinomials. Whish

polynomials do not fit in any these three categories ? 

Add the 

Watch Video Solution

2p2q2 − 3pq + 4, 5 + 7pq − 3p2q2

11. Add the following: 

Watch Video Solution

l2 + m2, m2 + n2, n2 + l2, 2lm + 2mn + 2nl

12. Subtract :  from 4a − 7ab + 3b + 12 12a − 9ab + 5b − 2

https://dl.doubtnut.com/l/_0bTpaVegp8Ht
https://dl.doubtnut.com/l/_EG0mTCosEG7G
https://dl.doubtnut.com/l/_IaPYEMGEbfkC
https://dl.doubtnut.com/l/_8lzQIeKNLIR4
https://dl.doubtnut.com/l/_OmvtBKeVacRv


Exercise 9 2

Watch Video Solution

13. Subtract :  from 

Watch Video Solution

3xy + 5yz − 7zx 5xy − 2yz − 2zx + 10xyz

14. Subtract  from 

Watch Video Solution

4p2q– 3pq + 5pq2– 8p + 7q– 10

18– 3p– 11q + 5pq– 2pq2 + 5p2q

1. Find the product of the pair of monomials : 

Watch Video Solution

7, 4p

https://dl.doubtnut.com/l/_OmvtBKeVacRv
https://dl.doubtnut.com/l/_y88Af38bBtxS
https://dl.doubtnut.com/l/_HUQCYs2ry8Sj
https://dl.doubtnut.com/l/_tBMg8owOZYPO
https://dl.doubtnut.com/l/_QClIi3B4XDjq


2. Find the product of the pair of monomials : 

Watch Video Solution

−4p, 7p

3. Find the product of the pair of monomials : 

Watch Video Solution

−7p, 4pq

4. Find the product of the following pairs of monomials: , – 3p

Watch Video Solution

4p3

5. Find the product of the following pairs of monomials: 4p, 0

Watch Video Solution

https://dl.doubtnut.com/l/_QClIi3B4XDjq
https://dl.doubtnut.com/l/_kxGATkZ2AhhN
https://dl.doubtnut.com/l/_vvS2HSZeuI8W
https://dl.doubtnut.com/l/_DrVLLrmXEur9


6. Find the areas of rectangles with the following pairs of monomials as

their lengths and breadths espectively.

Watch Video Solution

(p, q), (10m, 5n), (20x2, 5y2), (4x, 3x2), (3mn, 4np)

7. Complete the table of products:

Watch Video Solution

8. Obtain the volume of rectangular boxes with the following length,

breadth and height respectively: 

Watch Video Solution

5a, 3a2, 7a4

https://dl.doubtnut.com/l/_6bV81Ou4eZHa
https://dl.doubtnut.com/l/_fQmvzeKbcnde
https://dl.doubtnut.com/l/_5iQ9IUzFhZ4S


9. Obtain the volume of rectangular boxes with the following length,

breadth and height respectively: 2p, 4q, 8r

Watch Video Solution

10. Obtain the volume of rectangular boxes with the following length,

breadth and height respectively: 

Watch Video Solution

xy, 2x2y, 2xy2

11. Obtain the volume of rectangular boxes with the following length,

breadth and height respectively: a, 2b, 3c

Watch Video Solution

12. Obtain the product of : xy, yz, zx

Watch Video Solution

https://dl.doubtnut.com/l/_62kVVOwns4TO
https://dl.doubtnut.com/l/_BUEbn3NTRy64
https://dl.doubtnut.com/l/_BE7RNoR89Bd0
https://dl.doubtnut.com/l/_6y54fhkYR9Hv


Exercise 9 3

13. Obtain the product of : 

Watch Video Solution

a, – a2, a3

14. Obtain the product of : 

Watch Video Solution

2, 4y, 8y2, 16y3

15. Obtain the product of : a, 2b, 3c, 6abc

Watch Video Solution

16. Obtain the product of : m, – mn, mnp

Watch Video Solution

https://dl.doubtnut.com/l/_6y54fhkYR9Hv
https://dl.doubtnut.com/l/_2ysugueKQ8EB
https://dl.doubtnut.com/l/_lyuyOzdlW5hp
https://dl.doubtnut.com/l/_lLmzrVxmdWR4
https://dl.doubtnut.com/l/_0JOnyFPjM0QU


1. Carry out the multiplication of the expressions in each of the following

pairs : 4p, q + r

Watch Video Solution

2. Carry out the multiplication of the expressions in each of the following

pairs : ab, a – b

Watch Video Solution

3. Carry out the multiplication of the expression in each of the pair : 

Watch Video Solution

a − b, 7a2b2

4. Carry out the multiplication of the expressions in each of the following

pairs : a2– 9, 4a

https://dl.doubtnut.com/l/_mZGsLeLkD2OX
https://dl.doubtnut.com/l/_mkt5g70ziiSL
https://dl.doubtnut.com/l/_iTPqKBnvDZKd
https://dl.doubtnut.com/l/_1sgQb72uQ8sy


Watch Video Solution

5. Carry out the multiplication of the expressions in each of the following

pairs : pq + qr + rp, 0

Watch Video Solution

6. Complete the table :

Watch Video Solution

7. Find the product : 

Watch Video Solution

(a2) × (2a2) × (4a26)

https://dl.doubtnut.com/l/_1sgQb72uQ8sy
https://dl.doubtnut.com/l/_lEWaujmEBW48
https://dl.doubtnut.com/l/_6LidjDRfZx3K
https://dl.doubtnut.com/l/_gPlHfvuP3ykR


8. Find the product : 

Watch Video Solution

( xy) × ( x2y2)
2

3

−9

10

9. Find the product :

Watch Video Solution

( − pq3) × ( p3q)
10

3

6

5

10. Find the product : 

Watch Video Solution

x × x2x2 × x3 × x4

11. Simplify  and find its values for 
: 3x(4x − 5) + 3

x = − 3

https://dl.doubtnut.com/l/_7OVTNrACeCDg
https://dl.doubtnut.com/l/_dz1YJ83rT9DC
https://dl.doubtnut.com/l/_yhOmBdSPIK9u
https://dl.doubtnut.com/l/_2qPiq2aQVcuz


Watch Video Solution

12. Simplify  and first its values for 


Watch Video Solution

: 3x(4x − 5) + 3

x =
−1

2

13. Simplify  and find its value for : a = 0,

Watch Video Solution

a(a2 + a + 1) + 5

14. Simplify  and find its value for : a = 1

Watch Video Solution

a(a2 + a + 1) + 5

15. Simplify  and find its value for : a = – 1.

Watch Video Solution

a(a2 + a + 1) + 5

https://dl.doubtnut.com/l/_2qPiq2aQVcuz
https://dl.doubtnut.com/l/_PKUX4cCBR7SS
https://dl.doubtnut.com/l/_GZS18IvatHI3
https://dl.doubtnut.com/l/_iPMfskqU5VCR
https://dl.doubtnut.com/l/_FqZ0yzy6aE3Q


16. Add : 

Watch Video Solution

2p(p − q), q(q − r) and r(r − p)

17. Add: 2x (z – x – y) and 2y (z – y – x)

Watch Video Solution

18. Subtract: 3l (l – 4 m + 5 n) from 4l ( 10 n – 3 m + 2 l )

Watch Video Solution

19. Subtract: 3a (a + b + c ) – 2 b (a – b + c) from 4c ( – a + b + c )

Watch Video Solution

https://dl.doubtnut.com/l/_FqZ0yzy6aE3Q
https://dl.doubtnut.com/l/_nYlVNFwSdb3u
https://dl.doubtnut.com/l/_8g0RBbwX8jfT
https://dl.doubtnut.com/l/_xQXAW4gK5yfU
https://dl.doubtnut.com/l/_9MitbpTV3oVG


Exercise 9 4

1. Multiple the binomial : 

Watch Video Solution

(2x + 5) and (4x − 2)

2. Multiply the binomials : (y – 8) and (3y – 4)

Watch Video Solution

3. Multiply the binomials : (2.5l – 0.5m) and (2.5l + 0.5m)

Watch Video Solution

4. Multiply the binomial : 

Watch Video Solution

(a + 3b) and (x − 5)

https://dl.doubtnut.com/l/_r8uFvF1HB1Ng
https://dl.doubtnut.com/l/_fzHGPoyC5E7a
https://dl.doubtnut.com/l/_c9QS2wWjL0oy
https://dl.doubtnut.com/l/_k1jQYxlzYISV


5. Multiply the binomials :  and 

Watch Video Solution

(2pq + 3q2) (3pq– 2q2)

6. Multiply the binomial : 

Watch Video Solution

( a2 + 3b3) and 4(a2 − b2)
3

4

2

3

7. Find the product : (5 – 2x) (3 + x)

Watch Video Solution

8. Find the product : 

Watch Video Solution

(x − 7y)(7x + y)

https://dl.doubtnut.com/l/_k1jQYxlzYISV
https://dl.doubtnut.com/l/_FgEqqoXlSrk0
https://dl.doubtnut.com/l/_HQQIrlalLl7n
https://dl.doubtnut.com/l/_JFmcOlIODzdf
https://dl.doubtnut.com/l/_5KOIQAUEHmAy


Watch Video Solution

9. Find the product : 

Watch Video Solution

(a2 + b)(a + b2)

10. Find the product : 

Watch Video Solution

(p2– q2)(2p + q)

11. Simplify : 

Watch Video Solution

(x2– 5)(x + 5) + 25

12. Simplify : 

Watch Video Solution

(a2 + 5)(b3 + 3) + 5

https://dl.doubtnut.com/l/_5KOIQAUEHmAy
https://dl.doubtnut.com/l/_41Gh85s4aAsI
https://dl.doubtnut.com/l/_eqyKOwv65WuC
https://dl.doubtnut.com/l/_XAtKTbkFgEhS
https://dl.doubtnut.com/l/_7LsCCJbk0YRN
https://dl.doubtnut.com/l/_CLvHvR02dqRH


13. Simplify : 

Watch Video Solution

(t + s2)(t2– s)

14. Simplify : (a + b) (c – d) + (a – b) (c + d) + 2 (ac + bd)

Watch Video Solution

15. Simplify : 

Watch Video Solution

(c + y)(2x + y) + (x + 2y)(x − y)

16. Simplify : 

Watch Video Solution

(x + y)(x2– xy + y2)

17. Simplify : (1.5x – 4y)(1.5x + 4y + 3) – 4.5x + 12y

https://dl.doubtnut.com/l/_CLvHvR02dqRH
https://dl.doubtnut.com/l/_xFte7tDY0M2d
https://dl.doubtnut.com/l/_5mCLnvU6a8xj
https://dl.doubtnut.com/l/_j9PZnC5rvz8E
https://dl.doubtnut.com/l/_UmAiF4y19WLe


Exercise 9 5

Watch Video Solution

18. Simplify : (a + b + c)(a + b – c)

Watch Video Solution

1. Use a suitable identity to get each of the following products : (x + 3) (x

+ 3)

Watch Video Solution

2. Use a suitable identity to get each of the following products : (2y + 5)

(2y + 5)

Watch Video Solution

https://dl.doubtnut.com/l/_UmAiF4y19WLe
https://dl.doubtnut.com/l/_cjV3BZwAgHQC
https://dl.doubtnut.com/l/_UcyImse6b6VA
https://dl.doubtnut.com/l/_pOBiu7KXAeek
https://dl.doubtnut.com/l/_LcwFW5EfP0ik


3. Use a suitable identity to get each of the following products : (2a – 7)

(2a – 7)

Watch Video Solution

4. Use a suitable identity to get each of the following products :

Watch Video Solution

(3a − )(3a − )
1

2

1

2

5. Use a suitable identity to get each of the following products : (1.1m –

0.4) (1.1m + 0.4)

Watch Video Solution

6. Use a suitable identity to get each of the following products :

h id l i

(a2 + b2)(– a2 + b2)

https://dl.doubtnut.com/l/_LcwFW5EfP0ik
https://dl.doubtnut.com/l/_Hr0gZmihW5HP
https://dl.doubtnut.com/l/_PBJOfWBa8Fzt
https://dl.doubtnut.com/l/_XFj1PJ2Q9bhu


Watch Video Solution

7. Use a suitable identity to get each of the following products : (6x – 7)

(6x + 7)

Watch Video Solution

8. Use a suitable identity to get each of the following products : (– a + c)

(– a + c)

Watch Video Solution

9. Use a suitable identity to get each of the following products :

Watch Video Solution

( + )( + )
x

2

3y

4

x

2

3y

4

https://dl.doubtnut.com/l/_XFj1PJ2Q9bhu
https://dl.doubtnut.com/l/_rJe3m9MOQZje
https://dl.doubtnut.com/l/_mn43qjsNu8iM
https://dl.doubtnut.com/l/_OH4sGrk8xbwD


10. Use a suitable identity to get each of the following products : (7a – 9b)

(7a – 9b)

Watch Video Solution

11. Use the identity  to find the

product : 

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

(x + 2)(x + 7)

12. Use the identity  to find the

following products: (4x + 5) (4x + 1)

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

https://dl.doubtnut.com/l/_tI3gRMiylhal
https://dl.doubtnut.com/l/_hUXjxcn7KNLv
https://dl.doubtnut.com/l/_gFho7FgFqFSt


13. Use the identity  to find the

following products: (4x – 5) (4x – 1)

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

14. Use the identity  to find the

following products: (4x + 5) (4x – 1)

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

15. Use the identity  to find the

following products: (2x + 5y) (2x + 3y)

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

16. Use the identity  to find the

following products: 

(x + a)(x + b) = x2 + (a + b)x + ab

(2a2 + 9)(2a2 + 5)

https://dl.doubtnut.com/l/_7ya9Vm4s9eUV
https://dl.doubtnut.com/l/_p7tKMDPokiDm
https://dl.doubtnut.com/l/_QUVaHa1TXmMZ
https://dl.doubtnut.com/l/_amVvoEshCUnM


Watch Video Solution

17. Use the identity  to find the

following products: (xyz – 4) (xyz – 2)

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab

18. Find the following squares by using the identities : 

Watch Video Solution

(b– 7)2

19. Find the following squares by using the identities : 

Watch Video Solution

(xy + 3z)2

20. Find the following squares by using the identities : 

Watch Video Solution

(6x2– 5y)
2

https://dl.doubtnut.com/l/_amVvoEshCUnM
https://dl.doubtnut.com/l/_2AIj4a9EYg5T
https://dl.doubtnut.com/l/_Cp16GQXxipYm
https://dl.doubtnut.com/l/_CSVjpnVLrIFx
https://dl.doubtnut.com/l/_aA4DdLDVBY7l


21. Find the following squares by using the identities : 

Watch Video Solution

( m + n)
2

2

3

3

2

22. Find the following squares by using the identities : 

Watch Video Solution

(0.4p– 0.5q)
2

23. Find the following squares by using the identities : 

Watch Video Solution

(2xy + 5y)
2

24. Simplify : 

Watch Video Solution

(a2 + b2)
2

https://dl.doubtnut.com/l/_aA4DdLDVBY7l
https://dl.doubtnut.com/l/_8nLKBLRA5Hbm
https://dl.doubtnut.com/l/_1OasPnAnz7Fq
https://dl.doubtnut.com/l/_Vqo8idiUR0vv
https://dl.doubtnut.com/l/_B3kTtQLq2qQm
https://dl.doubtnut.com/l/_jN9ZYr3XZr25


25. Simplify : 

Watch Video Solution

(2x + 5)
2
– (2x– 5)

2

26. Simplify : 

Watch Video Solution

(7m– 8n)
2

+ (7m + 8n)
2

27. Simplify : 

Watch Video Solution

(4m + 5n)
2

+ (5m + 4n)
2

28. Simplify : 

Watch Video Solution

(2.5p − 15q)
2

− (1. 5p − 2. 5q)
2

https://dl.doubtnut.com/l/_jN9ZYr3XZr25
https://dl.doubtnut.com/l/_akl5LeGJbagK
https://dl.doubtnut.com/l/_J6JxUfthCO7H
https://dl.doubtnut.com/l/_JwxSywJd0xxW


29. Simplify : 

Watch Video Solution

(ab + bc)2– 2ab2c

30. Simplify : 

Watch Video Solution

(m2– n2m)
2

+ 2m3n2

31. Show that: 

Watch Video Solution

(3x + 7)2– 84x = (3x– 7)2

32. Show that: 

Watch Video Solution

(9p– 5q)2 + 180pq = (9p + 5q)2

33. Show that: ( m − n)
2

+ 2mn = m2 + n24

3

3

4

16

9

9

16

https://dl.doubtnut.com/l/_UsUmPI5Bnmfc
https://dl.doubtnut.com/l/_fxUZSEYAVHdI
https://dl.doubtnut.com/l/_82rC33SMeaXs
https://dl.doubtnut.com/l/_HC9OoY3M7NS7
https://dl.doubtnut.com/l/_R2GVYvHNXjfd


Watch Video Solution

34. Show that: 

Watch Video Solution

(4pq + 3q)2– (4pq– 3q)2 = 48pq2

35. Show that: (a – b) (a + b) + (b – c) (b + c) + (c – a) (c + a) = 0

Watch Video Solution

36. Using identities, evaluate: 

Watch Video Solution

712

37. Using identities, evaluate: 

Watch Video Solution

992

https://dl.doubtnut.com/l/_R2GVYvHNXjfd
https://dl.doubtnut.com/l/_e3M9Whi1pSa7
https://dl.doubtnut.com/l/_x7qndn26YeJ9
https://dl.doubtnut.com/l/_y1orXKOWCVwp
https://dl.doubtnut.com/l/_C4BrgZuTup62
https://dl.doubtnut.com/l/_MCdlpjTRUJWS


38. Using identities, evaluate: 

Watch Video Solution

1022

39. Evaluate: 

Watch Video Solution

(998)2

40. Using identities, evaluate : 

Watch Video Solution

5.22

41. Using identities, evaluate: 

Watch Video Solution

297 × 303

https://dl.doubtnut.com/l/_MCdlpjTRUJWS
https://dl.doubtnut.com/l/_ktELKhtZYQH3
https://dl.doubtnut.com/l/_PMeLjgLlk5Us
https://dl.doubtnut.com/l/_VQnO1XTxgfTh


42. Using identities, evaluate : 

Watch Video Solution

78 × 82

43. Using identities,evaluate:

.

Watch Video Solution

522

44. Using identities, evaluate : 

Watch Video Solution

1.05 × 9.5

45. Using , find: 

Watch Video Solution

a2– b2 = (a + b)(a– b) 512– 492

https://dl.doubtnut.com/l/_VMruGwYHbDFf
https://dl.doubtnut.com/l/_pRadU1amNy9i
https://dl.doubtnut.com/l/_qcTJDWd2eiLq
https://dl.doubtnut.com/l/_5cuyuqFOr9jv


46. Using , find: 

Watch Video Solution

a2– b2 = (a + b)(a– b) (1.02)2– (0.98)2

47. Using , find: 

Watch Video Solution

a2– b2 = (a + b)(a– b) 1532– 1472

48. Using , find: 

Watch Video Solution

a2– b2 = (a + b)(a– b) 12.12– 7.92

49. Using , find: 

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab 103 × 104

https://dl.doubtnut.com/l/_5cuyuqFOr9jv
https://dl.doubtnut.com/l/_uTO8VZPwxVCJ
https://dl.doubtnut.com/l/_SEX1KjUu6ZOm
https://dl.doubtnut.com/l/_BTTJeEG6EFRF
https://dl.doubtnut.com/l/_BGlN8o4RVfbS


50. Using , find: 

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab 5.1 × 5.2

51. Using , find: 

Watch Video Solution

(x + a)(x + b) = x2 + (a + b)x + ab 103 × 98

https://dl.doubtnut.com/l/_M8uD8G7iJXYu
https://dl.doubtnut.com/l/_SCnrg2cPlpGy

